On donne un parallélogramme RSOT.
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Recopie et complete les égalités vectorielles suivantes en justifiant :

1/ SR= 0. M oo
2/ S—O>+;t;:... d'a/[mé/a .....................................................................................................
3/ O—S>+O—T>: ....................................................................................................................
4/ O—S>+;t;:... .................................................................................................................

B T O+ R = o e e



